HaEE MR 2B RES

FIE5HE KN (BT H=5FFMIARR)
NEIVE SE ST oS
(B) ¥m31F4H18 () SM24E3H31H

(BT : 1)
BERNE ULERSRE(A) HIERERE(B) 1R (A)-(B)

2B 1,192, 200 1,178, 400 13, 800
SERUNZE 0 0 0
HHIEUNZS 1,240, 500 1,315, 000 -74, 500
R MBS INS 16, 640, 495 13, 603, 317 3,037,178
BN 11, 458, 271 10, 603, 014 855, 257

iy [T B 0 0 0

| TR 73, 300 77,200 -3, 900
EIESIN 0 0 0
NEERIRBRIN 4,587,076 6, 956, 305 -2, 369, 229

| |EEEay -t EELINS 1, 480, 900 1,742,180 -261, 280
[ [zoteosimas 0 0 0
vl |zofboumss 0 0 0
2| |[p-txEsmasat (1) 36, 672, 142 35.475. 416 1,197, 326
| |AE 37,049, 536 29, 947, 747 1,701, 789
5 |[EEE 2,017,868 2,045, 985 -28,117
| |EnE 2,545, 272 2,247,700 297,572
ol I B2 =t 0 0 0
B |\ nEEemseEEs 240, 000 310, 000 ~70, 000
Ol |pesam 0 0 0
B o | BRI 0 0 0
g |EHE 2B 211, 000 201, 000 10, 000
ESMEALE 0 0 0

AT AN S 537,831 590, 459 -52,628
BRI SEIE T SEEE -498, 742 -549, 675 50, 933
BURAAERE 0 0 0
BURTRAES | S BRA 0 0 0
ZOMOER 0 0 0
Y-CAEBER (2) 36, 102, 765 34,793, 216 1,300, 549
Y—CABBIERESE (3) = (1) - (2) 569, 977 682, 200 112, 223

Bl [exerompnamzs 0 0 0
A [ U | SZERF S A SN 716 808 -92
| 2% | z0thoY —E REBISMRZS 57,040 39, 980 17, 060
8| |[v-ExEBINNESE (4) 57,756 40, 788 16, 968
9| EzotoY—C A EESER 0 0 0
1= B[y—EXEBINERE (5) 0 0 0
p|T—EXEEINERER (6) = (4) — (5) 57,756 40, 788 16, 968
REEEREE (/1) = (3) + (6) 627, 733 722, 988 95, 255
MR REmISINGS 0 0 0

MR RS M INES 0 0 0

iy | EBEEAREARTREREM RIS 0 0 0

o [EEEESEE 0 0 0
BT &S 0 0 0

B |zothoiERINz 0 714, 315 -714, 315
Bl [sERIRzSEt (8) 0 714, 315 ~714, 315
18 |EASMEALE 0 0 0
w| | EEsrmE 0 0 0
o| |EEaEsiE-0sa 0 0 0
| B | BRI RIE T SIRE (R%) 0 0 0
) el e e e hvary kv | 0 0 0
PE=z-C 0 0 0
ZOMOKERIEL 0 0 0
1ERIZAE (9) 0 0 0
HRIEHASE (10) = (8) — (9) 0 714, 315 ~714, 315
LHERESIERELE (11) = (7) + (10) 627, 733 1,437,303 ~809, 570
* B aE e AgE (12) 12,139, 168 10, 851, 465 1,287,703
= ARSI EESRESE (13) = (11) + (12) 12, 766, 901 12,288, 768 478,133
v [EASEEHE (14) 0 0 0
o |ESEEEEE (15) 0 0 0
= |20 SHEEE (16) 399, 600 162, 000 237, 600
" zothoE £HETEE (17) 600, 000 311, 600 288, 400
o | REHEHESNIEREL (18) = (13) + (14) + (15) + (16) — 12, 566, 501 12,139, 168 427,333

11



